Functions Review Solutions

1. (-o0,5)
2. (-2,6]
3. Continuous domain (area): [0,°°) range (cost): [3,2°)
4. Discrete domain (time): [0,2°) range (# of mice): [0,20)
5. f(x)=x domain: (-oo,o0) or all real #s  range: [0, =) or y=0 —5%
6. f(x)=+x domain: [0, °) orx >0 range: [0, o) or y20L>
l
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7. f(x) = |x|] domain: (-eo,o) or all real #s range: [0, w)y
*7)

8. f(x)=(x—4)-1

9. f(x)=|x+1|+11

10. reflection across x-axis, vertical stretch x3, right 1, up 1
11. vertical shrink (compression) x%, up 7

12. t(x) =f(x +2) + 3 13.t(x) =f(x—1) -2
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14.-3 15.17 16.47 17.31
18. f(x) = |x—2] yes, it’s a function it’s continuous
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19.g7(x)=3(x+2) or g'(x)=3x+6 20. g0 =—
g'(3)=15 g'(3)=1
g'(0)=6 gl(0)=-%

g'(1)=9 gl(1)=0
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not a function 22.1(-3)=0
f(0)=0
f(2)=-2
23.f%(-2)=2and 4.5
f(-3)=6
guadratic domain: (-o0,00) range: [-4, o°)
absolute value domain: (-oo,o0) range: (-oo, 3]
logarithmic domain: (0, o°) range: (-oo,0)
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